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1.DRAG DROP 

 
Answer: 

 
 
2.Which two options must be part of your network design to support dynamic mutual redistribution 
between multiple OSPFv2 and IS-IS boundaries, to avoid suboptimal routing? (Choose two) 
A. Matching OSPF external routes 
B. Route aggregation 
C. Route tagging 
D. Route filtering 
E. Disabling IS-IS wide metrics 
Answer: C,D 
 
3.Which DCI technology utilizes a “flood and learn” technique to populate the Layer 2 forwarding table? 
A. OTV 
B. E-VPN 
C. VPLS 
D. LISP 
Answer: A 
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4.Refer to the exhibit. 

 
Which routing solution is the most scalable to connect the branches to the HQ and to connect the 
branches together over the internet using DMVPN? 
A. EIGRP 
B. EIGRP with the branch routers setup as stubs 
C. OSPF with each branch router as an ABR 
D. IS-IS L2 in all locations 
E. OSPF Area 0 in all locations 
Answer: B 
 
5.Which two functions are performed at the distribution layer of the three-layer hierarchical network 
design model? (Choose two) 
A. Fast transport 
B. QoS classification and marking boundary 
C. Fault isolation 
D. Redundancy and load balancing 
E. Reliability 
Answer: C,D 
 
 


